
Match the 
solution 
letter with 
the equation
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Solve using the quadratic 
formula

ݔ ൌ
െܾ േ ܾଶ െ 4ܽܿ

2ܽ

2ݔ ൅ ݔ3 െ 5

ݔ ൌ 1.2	
ݔ	ݎ݋ ൌ െ4.2

ݔ ൌ 0.3
ݔ	ݎ݋ ൌ െ1.8

ݔ ൌ 1.2	
ݔ	ݎ݋ ൌ െ0.2

ݔ ൌ 0.2	
ݔ	ݎ݋ ൌ െ1.6

ݔ ൌ 3.3	
ݔ	ݎ݋ ൌ െ0.8

ݔ ൌ െ0.3
ݔ	ݎ݋ ൌ െ0.7

ݔ ൌ 1.6	
ݔ	ݎ݋ ൌ 0.2

ݔ ൌ 0.3	
ݔ	ݎ݋ ൌ െ7.3

ݔ ൌ 2.8	
ݔ	ݎ݋ ൌ 0.7

ݔ ൌ 2.8
ݔ	ݎ݋ ൌ 0.2

ݔ ൌ 1.9	
ݔ	ݎ݋ ൌ െ0.4

2ݔ ൅ ݔ7 െ 2 ൌ 0

2ݔ ൅ ݔ7 ൅ 2 ൌ 0 2ݔ2 െ ݔ7 ൌ െ4

ݔ3 ൌ 1 െ 2ݔ2

2ݔ5 ൅ ݔ9 ൅ 2 ൌ 0

2ݔ4 െ ݔ7 ൅ 1 ൌ 0

2ݔ4 ൌ ݔ4 ൅ 2ݔ13 ൅ 2 ൌ ݔ9

2ݔ6 െ ݔ9 ൌ 4

2ݔ3 ൅ ݔ4 ൌ 1

2ݔ2 ൌ ݔ5 ൅ 5

ݔ ൌ െ0.3
ݔ	ݎ݋ ൌ െ1.5

Answer to 1 d.p.

ݔ ൌ 1.2	
ݔ	ݎ݋ ൌ െ4.2

ݔ ൌ െ0.3
ݔ	ݎ݋ ൌ െ0.7

ݔ ൌ െ0.3
ݔ	ݎ݋ ൌ െ0.7

ݔ ൌ െ0.3
ݔ	ݎ݋ ൌ െ1.5

ݔ ൌ 2.8
ݔ	ݎ݋ ൌ 0.7

ݔ ൌ 1.6	
ݔ	ݎ݋ ൌ 0.2

ݔ ൌ 2.8
ݎ݋ ݔ ൌ 0.2

ݔ ൌ 1.9	
ݔ	ݎ݋ ൌ െ0.4

ݔ ൌ 3.3	
ݔ	ݎ݋ ൌ െ0.8

ݔ ൌ 0.2	
ݔ	ݎ݋ ൌ െ1.6

ݔ ൌ 1.2	
ݎ݋ ݔ ൌ െ0.2

ݔ ൌ 0.3	
ݔ	ݎ݋ ൌ െ1.8


